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2 Finda, b, c, and d. Leave all answers in simplified
radical form.
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3. Find x to the nearest tenth of a degree.
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4. Give the trigonometric ratio in fraction form and rounded to

to the nearest ten-thousandth.
a tan":\e /“27‘ Qz =20 *
b. cos C 20 16 296{'41': Yoo
D@
Az |2

T2

A.)tﬂ A :@:‘0. ‘_?,S-E

8 Y osc ~‘~ I \
10

February 19, 2014



5. Atree on level ground casts a shadow 9.5 meters long when
the sun is 33" up from the horizon. How tall is the tree, to the

nearest tenth of a meter?
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6. Solve ASTU. Round measures to the nearest tenth,
m/T=87"s=451t=62
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8. Could 9, 6, andJi 16 be?:l ht triangle? Explain your answer.
Could they be a Pythagorgezu r"rarliige? th’;'or wy% not.
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